


• Identify the figure that completes the pattern.

• उस आकृति को पहचातिए जो पैटिन को परूा करिी ह।ै

X A B C D





• LEFT TURN=90° LEFT(ALWAYS)

• RIGHT TURN=90°RIGHT(ALWAYS)

• DIFFERENCE BETWEEN TWO DIRECTIONS=90°

• DIFFERENCE BETWEEN TWO SUB-DIRECTIONS=90°

• DIFFERENCE BETWEEN DIRECTION TO SUB-DIRECTIONS=45°

• FOR SHORTEST DISTANCE WE ALWAYS USE PYTHAGORAS 

THEOREM



• If a person walks 8 km towards South, turns to his right and walks 8 km, again 

turns to his left and walks 10 km, then in which direction is he from the starting 

point?

• यति एक व्यति 8 तकमी ितिण की ओर चलिा ह ैवह िायीं ओर मडु़कर 8 तकमी चलिा ह,ै पिुः 

बायीं ओर मडु़कर 10 तकमी चलिा ह,ै िो वह शरुुआिी तबन्ि ुसे तकस तिशा म  ह?ै

A.East-South

B. North-East

C. North-South

D.South-West



• Anne walks towards East. After walking 200 m she takes a left turn and walks 

70 m straight. She again takes a left turn and walks 90 meters straight. She turns 

to the left and walks 70 metres. How far is he from the starting point?

• ऐिी पवून तिशा की ओर चलिी ह।ै 200 मीटर चलिे के बाि वह बाई ंओर मडु़िी ह ैऔर 70 मीटर 

सीधी चलिी ह।ै वह तिर से बाई ंओर मडु़िी ह ैऔर 90 मीटर सीधी चलिी ह।ै वह बाई ंओर मडु़िी 

ह ैऔर 70 मीटर चलिी ह।ै वह प्रारंतिक तबंि ुसे तकििी िरू ह?ै
A.110 मीटर

B. 100 मीटर

C. 140 मीटर

D.35 मीटर



• Rupali goes from her house to office through a 
special route. Initially she travels 17 km towards 
North, then takes a right turn towards East and 
travels 15 km. From here she again takes a right 
turn and travels 17 km. Now she takes a left turn 
and travels 7 km and finally reaches her office. In 
which direction and how many km away (taking 
into account the shortest distance) is he from his 
home? (All turns are 90° turns only)

• रूपाली एक खास रास्िे से अपिे घर से ऑतिस जािी ह।ै प्रारंि 
म  वह उत्तर की ओर 17 तकमी चलिी ह,ै तिर पवून की ओर िाए ं
मडु़िी ह ैऔर 15 तकमी की यात्रा करिी ह।ै यहां स ेवह तिर स े
िाए ंमडु़िी ह ैऔर 17 तकमी की यात्रा करिी ह।ै अब वह बाए ं
मडु़िी ह ैऔर 7 तकमी की यात्रा करिी है और अिं म  अपिे 
ऑतिस पह चंिी ह।ै वह अपिे घर स ेतकस तिशा म  और तकििी 
तकमी िरू (न्यिूिम िरूी को ध्याि म  रखिे ह ए) ह?ै (सिी मोड़ 
केवल 90° मोड़ के हैं)

A.West, 22 km

B. West, 29 km

C. East 24 km

D.East 22 km



• Pawan is standing facing east. He takes a right turn and walks 2 metres. Again, 

turns right and walks 5 metres. Then again takes a right turn to walk 7 metres. 

Finally, he takes a right turn and walks 5 metres. How far is he from the starting 

point?

• पवि पवून की ओर सम्मखु होकर खड़ा ह।ै वह िाए ँमडु़िा ह ैऔर 2 मीटर चलिा ह।ै तिर से, िाए ँ

मडु़िा ह ैऔर 5 मीटर चलिा ह।ै तिर 7 मीटर चलिे के तलए तिर से िाएँ मडु़िा ह।ै अंि म , वह िाएँ

मडु़िा ह ैऔर 5 मीटर चलिा ह।ै वह आरंतिक तबंि ुसे तकििी िरू ह?ै

A.7 मीटर

B. 2 मीटर

C. 9 मीटर

D.5 मीटर



• One evening when Rosie is going to the market, she sees the sun to her right. 

She walks 100 m and takes a left turn and walks 50 m to reach an intersection. 

From there she walks 40 meters towards South, and finally she takes a left turn 

and walks 60 meters to reach the market. In which direction is the market from 

his house?

• एक शाम जब रोजी बाजार जा रही थी, िो वह सयून को अपिे िाए ँिखेिी ह।ै वह 100 मीटर चलिी 

ह ैऔर बाए ँमडु़िी और एक चौराह ेपर पह चँिे के तलए 50 मीटर चलिी ह ै। वहाँ से वह ितिण की 

ओर 40 मीटर चलिी ह,ै और अंि म  वह बाए ँमडु़िी ह ैऔर बाजार िक पह चँिे के तलए 60 मीटर 

चलिी ह।ै उसके घर से बाजार तकस तिशा म  ह ै? A.North-East

B. South-West

C. South-East

D.North-West



• You are facing east. You rotate 100° in the clockwise direction and then 145° in 

the anticlockwise direction. Which direction are you facing now?

•आप पवून के सम्मखु हैं। आप ितिणाविन तिशा म  100° और तिर वामाविन तिशा म  145° घमूिे हैं। 

अब आप तकस तिशा के सम्मखु हैं?

A.North

B. East

C. North-East

D.South-East



• Rahil loves to play football in the college campus. While playing one evening, 

his friend Sahil noticed Rahil's shadow. If Rahil was running in the north 

direction, then in which direction would his shadow be?

• रातहल को कॉलेज पररसर म  िुटबॉल खेलिा बह ि पसंि ह।ै एक शाम खेलिे समय उसके िोस्ि 
सातहल िे रातहल की परछाई पर ध्याि तिया। यति रातहल उत्तर तिशा म  िौड़ रहा था, िो उसकी 

परछाई कौि-सी तिशा म  होगी?

A.To the right of Rahil

B. To the left of Rahil

C. To the left of Sahil

D.To the right of Sahil



• My face is towards the east. I rotate 100 degrees in the clockwise direction and 

then 145 degrees in the counterclockwise direction. Which direction am I facing 

now?

• मेरा मखु पवून की ओर ह।ै मैं ितिणाविन तिशा म  100 तिग्री और तिर वामाविन तिशा म  145 तिग्री

घमुािा ह ।ँ अब मेरा मखु तकस तिशा की ओर ह?ै

A.East

B. North-East

C. North

D.South West



• A person is standing in a field facing north-east. If the person turns 45 degrees 

in the anti-clockwise direction and 135 degrees in the clockwise direction, in 

which direction is he now?

• एक व्यति एक मैिाि म  उत्तर-पवून के सम्मखु खड़ा ह।ै यति वह व्यति 45 अंश वामाविन तिशा म 

और 135 अंश ितिणाविन तिशा म  मडु़िा ह,ै िो अब वह तकस तिशा की ओर ह?ै

A.South-West

B. South-East

C. North-East

D.North-West



• If the south-east direction becomes north, and the north-east direction becomes 

west, and so on for all the other directions, which direction will become south?

• यति ितिण-पवून तिशा उत्तर बि जाए, और उत्तर-पवून तिशा पतिम बि जाए और इसी प्रकार शेष सिी 

तिशाएँ पररवतिनि हो जाए ँिो कौि सी तिशा ितिण बि जाएगी?

A.South

B. North-West

C. North

D.South-East



• A person walks 5 km towards west from his house. He takes a left turn and 

walks 10 km and again takes a left turn and walks 5 km. In which direction is 

his house?

• एक व्यति अपिे घर से 5 तकमी पतिम तिशा की ओर चलिा ह।ै वह बाए ँमडु़िा ह ैऔर 10 तकमी 

चलिा ह ैिथा तिर से बाए ँमडु़िा ह ैऔर 5 तकमी चलिा ह।ै उसका घर तकस तिशा म  ह?ै

A.East

B. West

C. North

D.South



• City M is to the south-west of city A. City A is to the west of City D. City C is 

to the north of city D. City B is to the west of City C. City B is to the north of 

city A. What is the position of city C with respect to city A?

• शहर M, शहर A के ितिण-पतिम म  ह।ै शहर A, शहर D के पतिम म  ह।ै शहर C, शहर D के उत्तर 

म  ह।ै शहर B, शहर C के पतिम म  ह।ै शहर B, शहर A के उत्तर म  ह।ै शहर A के सन्ििन म  शहर C 

की तस्थति क्या ह?ै
A.West

B. South-East

C. North

D.North-East



• A cyclist goes 30 km north, turns east and goes 40 km. After that he turns right 

and travels 20 km. Finally, he turns to his right and walks 40 km. Accordingly, 

how far is he from his starting point?

• एक साइतकल चालक 30 तकमी उत्तर तिशा म  जाकर, पवून की ओर घमूकर 40 तकमी जािा ह।ै उसके 

बाि वह िाय  घमूकर 20 तकमी जािा ह।ै अंििः, वह अपिी िायीं ओर घमूकर 40 तकमी जािा ह ै। 

िद्नसुार, वह अपिे आरंतिक स्थाि से तकििी िरूी पर ह ै?
A.20 तकमी

B. 40 तकमी

C. 10 तकमी

D.25 तकमी



• Arun travels 8 km in the north direction. After this he turns left and goes 3 km 

and then turns right and goes another 4 km. Finally he turns right and walks 3 

km more. Accordingly, how far does he reach from his starting point?

• अरूण उत्तर तिशा म  8 तकमी की यात्रा करिा ह।ै इसके बाि बाय  मडु़कर 3 तकमी जािा ह ैऔर तिर 

िाय  मडु़कर 4 तकमी और जािा ह ै। अंििः िाय  मडु़कर 3 तकमी और जािा ह ै। िद्नसुार, वह अपिे 

प्रस्थाि-तबन्ि ुसे तकििी िरू पह चँ जािा ह ै?

A.18 तकमी

B. 15 तकमी

C. 11 तकमी

D.12 तकमी


